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Dayl(E{&Hk) = (16.3, 15.93, 15.97, 16.23)
Day2(E{tHk) = (16.66, 16.13, 16.17, 16.47)

B [1=0.53
B 12=16.66-16.23=0.43
B [3=116.13-16.23| = 0.1

Day2 TR= Max(0.53, 0.43, 0.1) = 0.53
Day2 ATR = M &% [N E-RKTREFIEME
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def before market open(context):
At eREGARIM
for code in context.portfolio.positions.keys():
position = context.portfolio.positions[code]

high price = get price(security=code, start date=position.init time,
end date=context.current dt, frequency="1m", fields=['high'], skip paused=True, fq="pre",
count=None)['high']. max()

if code not in g.cache data keys():
g.cache data[code] = dict()
g cache data[code]['high price'] = high price
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" @ #Ar 69 9 ATR #4 32
atr =
calc history atr(code=code,end time=position.init time,timeperiod

=ATR WINDOW,unit=UNIT)
if code not in g.cache data.keys():
g.cache data[code] = dict()

g.cache data[code]['atr'] = atr
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def calc_history atr(code.end time timeperiod=14,unit='1d'):

security data = get price(security=code, end date=end time, frequency=unit, fields=['close’,'high’,'low'],

skip paused=True, fq="pre', count=timeperiod+1)
nan_count = list(np.1snan(security data['close'])).count(True)
if nan_count == len(security data['close']):

log.info(" & & %s #ir~# & 2R NaN, B ET4 & F A LT, Be NaN A% E. "
Y%ostock)

return np.nan
else:

return tl. ATR(np.array(security data['high']), np.array(security data['low']),

np.array(security data['close']), timeperiod)[-1]
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def stop loss(context):
for code in context.portfolio.positions.keys():

position = context.portfolio.positions[code]

if position.closeable amount <= 0:
continue

if1s_low limit(code):
continue

current data = get current data()[code]

if current data == None:
continue

current price = current data.last price
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# IR A A A R F A
start date = context.current dt strftime("%Y-%m-%d") + " 00:00:00"

if context.current_dt. strftime("%Y-%m-%d") <= position.init_ time. strftime("% Y -%m-%d"):
start date = position.init time
high price = get price(security=code, start date=start date, end date=context.current dt,
frequency='1m', fields=["high'], skip paused=True, fqg='pre', count=None)['high']. max()

if not np.1snan(high_price):
high price = max(high price,g.cache data[code]['high price'])
else:
# # %9: 30get prices e & 5 M ANAN, MU EH A SHHBETaLbaR5MLE
high price = max(current price,g.cache data[code]['high price'])
o cache data[code]['high price'] = high price
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atr = g.cache datajcode]|'atr']

if current price <= high price - atr * TRAILING STOP LOSS ATR:
# LML T % F &5 M 94 TRAILING STOP LOSS ATR 4
ATR, #FT.ER £ &
order = order target(security=code, amount=0)

if order 1s not None and order .filled > 0:

log.info("% § £ & $& gkt 43", code,order .filled, current price,
high price, atr, (atr * TRAILING STOP LOSS ATR))
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